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ENGLISH VERSION

1 Division-Z is a profit center which produces four products20
A, B, C and D. Each product is sold in the external market also.
Data for a period as follows:
Particulars A B C D

Market price per unit (`) 150 146 140 130
Variable cost per unit (`) 130 100 90 85
Labour hour required per unit3 4 2 3

Product D can be transferred to division 'Y' but the maximum
quantity required for transfer is 2,500 units of D.
The maximum sales in the external market are:

A .............2,800 units

B .............2,500 units
C .............2,300 units
D .............1,600 units

Division 'Y' can purchase the same product at a slightly
cheaper price of  ̀125 per unit instead of receiving transfer of
product D from division 'Z'.

What should be transfer price for each unit for 2,500 units

of D, if the total labour hours available in division Z are:
(1) 20,000 hours
(2) 30,000 hours

OR
1 Sahil Ltd. has two production divisions. Division S and20

Division T. Division S has budgeted selling 1,50,000 units of
components 'Zed' to fetch a return of 25% on average capital

employed. The following particulars are available for Division S:
Fixed overhead annual............... ̀3,80,000
Variable cost............................ ̀2 per unit

Average Assets:
Sundry debtors.................. ̀1,50,000
Inventory........................... ̀3,00,000

Plant - Machinery............. ̀4,50,000
However, only 1,12,500 units of components 'Zed' can be

directly sold to the market at the propose price. The balance 37,500
units of components 'Zed' can be taken by Division T. Division S

wants a price of ` 5 per unit of components 'Zed' but Division T
is ready to pay  ̀3 per unit of 'Zed'.

Division S has another option, which is to produce only
1,12,500 units of components 'Zed'. This unit reduce the holding

of assets by  ̀2,00,000 and fixed overhead by 1̀8,000.
Which option will you recommend? Why?
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2 Rajesh stores of Jamnagar (India) has a branch in Nagasaki city of20

Japan where Yen is the currency. Following is its Trial Balance as
on Dt. 31-3-2022.

Particulars Debit (Yen)Credit (Yen)

Head Office A/c - 2,00,00,000

Purchases and Sales 2,85,00,000 2,05,00,000

Opening stock 39,00,000 -

Debtors and Creditors 10,25,000 10,00,000

Bank and Cash 1,50,000 -

Furniture Purchased on 1-7-202140,00,000 -

Office Expenses 12,00,000 -

Selling & Distribution Exp. 14,00,000 -

Interest on Loan 8,25,000 -

Bills of Exchange 8,00,000 5,50,000

Misc. Expenses 2,50,000 -

Total 4,20,50,000 4,20,50,000

The closing stock at Branch was valued at 2,00,00,000 Yen
on 31-3-2022. The Debit Balance of Branch Account is ` 80,00,000
in the books of Head Office. The Exchange Rate is as under:

On 01-4-2021..................100 Yen = 40 `

On 01-7-2021..................100 Yen = 42 `

On 25-3-2022..................100 Yen = 43 `

On 31-3-2022..................100 Yen = 44 `

Calculate 40% depreciation on Furniture. Head Office has
thsent goods ` 43,00,000 to the Branch on 25 March, 2022, which

has not been received to the Branch till 31-03-2022.

Prepare converted Trial Balance, Branch Trading Account,
Profit & Loss Account and Balance Sheet for the accounting period

st stfrom 1 April, 2021 to 31 March, 2022 as per Indian Accounting
Standard-11 the books of Head Office.

OR
2 The Jenisha Ltd. commenced manufacturing readymade garments20

business from 1-4-2021. It has produced 60,000 units up to the
year 31-3-2022 at a cost of ` 50 per unit.

1
33%The company sold  units of total production to

3
Ahmedabad situated wholesale trader at a wholesale price and 50%
units of total production sent to the Vadodara based branch at a
wholesale price. At the end of the year stock remained unsold with
Head Office 1000 units, 2000 units with wholesale trader and
2000 units with wholesale branch respectively.
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Head Office and branch have incurred selling expense of

` 10 per unit sold on M.R.P. basis. The wholesale price and M.R.P.

fixed by H.O. were :

M.R.P. = Cost + 250% of cost

Wholesale price = M.R.P.  20% of M.R.P.

Including H.O., they each have sold units on M.R.P. basis. You are

required to

(1) Find closing stock reserve of the branch.

(2) Gross Profit and Net Profit of H.O. and Branch.

3 Viral Ltd. purchased a machine of US $ 12,00,000 on 30-6-2021.15

Of which US $ 10,00,000 were received by foreign loans and

remaining amount is from government subsidy. 10% interest is

payable on foreign loan. Exchange rate of US $ is as under:

On 30-06-2021................1 $ = ̀ 36

On 31-12-2021................1 $ = ̀ 36.5

On 31-12-2022................1 $ = ̀ 37
stAccounts are prepared on 31 December every year. Provide

depreciation on W.D.V. method @ 15%. Company has paid
instalments with interest on 31-12-2021 and 31-12-2022

respectively of US $ 2,00,000 and US $ 1,50,000.
With this information, As per AS-11 calculate:

(1) Amount of depreciation for both the years.
(2) The closing balance of machine of the years Dt. 31-12-2021

and 31-12-2022.

OR
3 Vimal Ltd. purchased a machine of $ 1,00,000 from 15

foreign company. For this purpose foreign company has get him

loan as financial facility. Principal amount of loan is to paid within

5 equal installments. 15% interest is to be calculated on loan

amount. Machine is installment in the first year and started its

usage. Exchange rate is to be given as under:

At the time of purchase (T0).............1 $ = ̀ 30

At the end of First Year (T1)............1 $ = ̀ 32

At the end of Second Year (T2)........1 $ = ̀ 31.5

At the end of Third Year (T3)...........1 $ = ̀ 33

At the end of Fourth Year (T4).........1 $ = ̀ 33

At the end of Fifth Year (T5)............1 $ = ̀ 32.5

From the above information, as per accounting standard-11 find

out balance brought down amount for the fixed assets T1, T2, T3,

T4 and T5.
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4 Write short notes. (any two) 15

(1) IFRS

(2) Objectives of Indian Accounting Standard

(3) Importance of MNC

(4) GAAP.

__________
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